


Three persons Arjun, Bindia and Mira start from point A to point Z following three different paths.
P * Q (23) means P is 17 m in north of Q
P ^ Q (25) means P is 28 m in south of Q
P # Q (14) means P is 18 m in west of Q
P $ Q (19) means P is 14 m in east of Q

तीन व्यक्तत अर्जनु, ब िंदिया और मीरा ब िंिज A से ब िंिज Z तक तीन अलग-अलग रास्तों पर चलना शजरू करते हैं।
P * Q (23)का अर्ु है P, Q के 17 मीटर उत्तर में है
P ^ Q (25)का अर्ु है P, Q के 28 मीटर िक्षिण में है
P # Q (14)का अर्ु है P, Q के 18 मीटर पक्चचम में है
P $ Q (19)का अर्ु है P, Q के 14 मीटर पूर्ु में है

Arjun: A ^ C (21), B $ C (23), G * B (18), Q ^ R (33), G # R (12), Z ^ M (9), Q $ M (17)
Bindia: A * P (30), O # P (8), K $ E (35), O * E (14), K ^ S 917), Z $ S (11)
Mira: D # A (12), D * H (22), I ^ F (21), H $ F (25), J $ I (65), N * J (18), T $ N (21), T ^ L (13), Z # L (12)



Three persons Arjun, Bindia and Mira start
from point A to point Z following three
different paths.
P * Q (23) means P is 17 m in north of Q
P ^ Q (25) means P is 28 m in south of Q
P # Q (14) means P is 18 m in west of Q
P $ Q (19) means P is 14 m in east of Q

Arjun: A ^ C (21), B $ C (23), G * B (18), Q ^ R
(33), G # R (12), Z ^ M (9), Q $ M (17)
Bindia: A * P (30), O # P (8), K $ E (35), O * E
(14), K ^ S 917), Z $ S (11)
Mira: D # A (12), D * H (22), I ^ F (21), H $ F
(25), J $ I (65), N * J (18), T $ N (21), T ^ L (13),
Z # L (12)



Q. What is the position of Q with respect to S ?
A. North west
B. North east
C. South east
D. South west
E. None of these

Q. What is the shortest distance between S and M ?
A. 6 root 5
B. Root 52
C. 10 m
D. 8 root 2
E. None of these

Q. What is the distance between Q and D ?
A. 64 m
B. 50 m
C. 60 m
D. 48 m
E. None of these



% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
~ का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 10 पर है।
& का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 12 बजे है।
# का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 2 पर है।
$ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 3 पर है।
* का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 8 बजे है।
^ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 4 पर है।
% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
@ का अर्थ है घड़ी की घंटे की सूई या मिनट की सूई 9 बजे है।
नोट: यदि िो प्रत़ीक दिए गए हैं तो डिफ़ॉल्ट रूप से पहले प्रत़ीक को घंटे की सुई िाना जाएगा और िसूरे प्रत़ीक को मिनट की
सुई िाना जाएगा।
उिाहरण के मलए: ^* पूर्ाथह्न - 4:40

Q. जारा के घर से उसके क़ॉलेज की िरूी 280 ककि़ी है। उसने घर से अपऩी यात्रा बस से 45 ककि़ी/घंटा की गतत से '#*'
अपराह्न पर शरुू की, तो र्ह ककतने बजे अपने घर पर पहुुँच़ी?
A. %^ PM
B. @# PM
C. ^~ PM
D. ~$ PM
E. None of these



% means either the hour hand or minute hand of the clock is at 6.
~ means either the hour hand or minute hand of the clock is at 10.
& means either the hour hand or minute hand of the clock is at 12.
# means either the hour hand or minute hand of the clock is at 2.
$ means either the hour hand or minute hand of the clock is at 3.
* means either the hour hand or minute hand of the clock is at 8.
^ means either the hour hand or minute hand of the clock is at 4.
@ means either the hour hand or minute hand of the clock is at 9.
Note: if two symbols are given then by default the first symbol will be considered as the hour hand and the second symbol will be
considered as the minute hand.
For example: ^* AM – 4:40

Q. The distance between Zara’s home to her college is 280 km. she started her journey from the home by bus at a speed of 45
Km/hr at ‘#*’ PM, then at what time did she reach her college ?
A. %^ PM
B. @# PM
C. ^~ PM
D. ~$ PM
E. None of these



% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
~ का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 10 पर है।
& का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 12 बजे है।
# का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 2 पर है।
$ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 3 पर है।
* का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 8 बजे है।
^ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 4 पर है।
% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
@ का अर्थ है घड़ी की घंटे की सूई या मिनट की सूई 9 बजे है।
नोट: यदि िो प्रत़ीक दिए गए हैं तो डिफ़ॉल्ट रूप से पहले प्रत़ीक को घंटे की सुई िाना जाएगा और िसूरे प्रत़ीक को मिनट की
सुई िाना जाएगा।
उिाहरण के मलए: ^* पूर्ाथह्न - 4:40

Q. रेलरे् स्टेशन से नायरा की टे्रन '*^' पर प्रस्र्ान करने र्ाली है। उसके घर से रेलरे् स्टेशन पहंुचने िें 2 घंटे 45 मिनट का
सिय लगेगा। तनर्ाथररत प्रस्र्ान से कि से कि 45 मिनट पहले स्टेशन पर पहंुचने के मलए र्ह ककतने बजे तनकलत़ी है?
A. @~
B. ^~
C. $*
D. ~*
E. None of these



% means either the hour hand or minute hand of the clock is at 6.
~ means either the hour hand or minute hand of the clock is at 10.
& means either the hour hand or minute hand of the clock is at 12.
# means either the hour hand or minute hand of the clock is at 2.
$ means either the hour hand or minute hand of the clock is at 3.
* means either the hour hand or minute hand of the clock is at 8.
^ means either the hour hand or minute hand of the clock is at 4.
@ means either the hour hand or minute hand of the clock is at 9.
Note: if two symbols are given then by default the first symbol will be considered as the hour hand and the second symbol will be
considered as the minute hand.
For example: ^* AM – 4:40
Q. Naira’s train from railway station scheduled to depart at ‘*^’. It will take 2 hour 45 minutes to reach the railway station from
her home. At what time does she leave to arrive at the station at least 45 minutes before the scheduled departure ?
A. @~
B. ^~
C. $*
D. ~*
E. None of these



% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
~ का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 10 पर है।
& का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 12 बजे है।
# का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 2 पर है।
$ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 3 पर है।
* का अर्थ है कक घड़ी की घंटे की सूई या मिनट की सूई 8 बजे है।
^ का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 4 पर है।
% का अर्थ है कक घड़ी की घंटे की सुई या मिनट की सुई 6 पर है।
@ का अर्थ है घड़ी की घंटे की सूई या मिनट की सूई 9 बजे है।
नोट: यदि िो प्रत़ीक दिए गए हैं तो डिफ़ॉल्ट रूप से पहले प्रत़ीक को घंटे की सुई िाना जाएगा और िसूरे प्रत़ीक को मिनट की
सुई िाना जाएगा।
उिाहरण के मलए: ^* पूर्ाथह्न - 4:40

Q. एक व्यक्तत '^*' पर एक रेस्तरां से केक िंगर्ाता है और उम्ि़ीि की जात़ी है कक र्ह '%^' डिलीर्र करेगा। बाररश के कारण
आिेश िें 25 मिनट की िेरी हुई। ऑिथर िेने िें कुल ककतना सिय लगता है?
A. 1 hour 45 minutes
B. 2 hour 5 minutes
C. 2hour 15 minutes
D. 1 hour 50 minutes
E. None of these



% means either the hour hand or minute hand of the clock is at 6.
~ means either the hour hand or minute hand of the clock is at 10.
& means either the hour hand or minute hand of the clock is at 12.
# means either the hour hand or minute hand of the clock is at 2.
$ means either the hour hand or minute hand of the clock is at 3.
* means either the hour hand or minute hand of the clock is at 8.
^ means either the hour hand or minute hand of the clock is at 4.
@ means either the hour hand or minute hand of the clock is at 9.
Note: if two symbols are given then by default the first symbol will be considered as the hour hand and the second symbol will be
considered as the minute hand.
For example: ^* AM – 4:40

Q. A person order Cake from a restaurant at ‘^*’ and is expected to deliver ‘%^’. Due to rain, the order was delayed by 25
minutes. What is the total time taken to deliver the order ?
A. 1 hour 45 minutes
B. 2 hour 5 minutes
C. 2hour 15 minutes
D. 1 hour 50 minutes
E. None of these



एक कंपऩी िें 21 व्यक्ततयों को वर्मिन्न पिों पर तनयुतत ककया गया। पि घटते क्रि िें हैं याऩी स़ीईओ, ज़ीएि,
एज़ीएि, िनेैजर, प़ीओ और तलकथ । स़ीईओ सबसे र्ररष्ठ व्यक्तत होता है। ज्ञातव्य है कक ककस़ी ि़ी पि पर
पिस्र्ावपत व्यक्ततयों की संख्या तत्काल र्ररष्ठ पि पर पिस्र्ावपत व्यक्ततयों की संख्या से एक अधर्क ऱ्ी।
(उिाहरण के मलए: यदि 4 व्यक्ततयों को प़ीओ के रूप िें तनैात ककया जाता है तो 5 व्यक्ततयों को तलकथ के रूप िें
तैनात ककया जाता है)। E, एज़ीएि िें तनैात है और Z से ठीक र्ररष्ठ है। C और G एक ही पि पर तैनात रे् और E से
र्ररष्ठ रे्। F, Q और R एक ही पोस्ट पर तनैात रे् और Z से जूतनयर रे्। A, W से ठीक कतनष्ठ है लेककन R से ठीक
र्ररष्ठ है। P, T और Y को एक ही पि पर तनैात ककया गया र्ा लेककन A के सार् नहीं हैं। V, Z से कतनष्ठ है लेककन
J से र्ररष्ठ है। K और O एक ही पि पर तनैात रे् लेककन तलकथ के रूप िें नहीं। S को U और P के सार् तैनात नहीं
ककया गया र्ा। D, S से र्ररष्ठ है लेककन M से कतनष्ठ है। U और B को सिान पि पर तैनात ककया गया है।



21 persons in a company were posted at different post. The post are in decreasing order i.e. CEO, GM, AGM,
Manager, PO and Clerk. CEO is the senior most person. It is known that in any post the number of person posted
were one more than the number of person posted in the immediate senior post. (for example: if 4 persons are
posted as PO then 5 persons are posted as Clerk). E is posted as AGM and is just senior to Z. C and G were posted at
the same post and were senior to E. F, Q and R were posted at same post and were junior to Z. A is just junior to W
but just senior to R. P, T and Y were posted at same post but not with A. V is junior to Z but senior to J. K and O were
posted at same post but not as Clerk. S was not posted along with U and P. D is senior to S but junior to M. U and B
were posted at same post.



21 persons in a company were posted at
different post. The post are in decreasing
order i.e. CEO, GM, AGM, Manager, PO
and Clerk. CEO is the senior most person.
It is known that in any post the number
of person posted were one more than
the number of person posted in the
immediate senior post. (for example: if 4
persons are posted as PO then 5 persons
are posted as Clerk). E is posted as AGM
and is just senior to Z. C and G were
posted at the same post and were senior
to E. F, Q and R were posted at same post
and were junior to Z. A is just junior to W
but just senior to R. P, T and Y were
posted at same post but not with A. V is
junior to Z but senior to J. K and O were
posted at same post but not as Clerk. S
was not posted along with U and P. D is
senior to S but junior to M. U and B were
posted at same post.



Q. Who among the following was posted at the same post as S ?
A. Y
B. B
C. C
D. F
E. None of these

Q. W works at which post ?
A. GM
B. AGM
C. Manager
D. PO
E. CEO

Q. Find the odd one out ?
A. Q – S
B. M – G
C. J – B
D. K – Z
E. D – W 



एक त़ीन प़ीढी के पररर्ार िें सात सिस्य एक सकथ स िेखने गए लेककन ििुाथग्य से उन्हें एक ही पंक्तत िें स़ीट नहीं
मिली। त़ीन व्यक्तत स़ीट क्रिांक A5, A6, A7 या पंक्तत 1 पर बठेै जबकक चार व्यक्तत पंक्तत 2 की A4, A5, A6 और
A7 क्रिांक र्ाली स़ीट पर बैठे (पंक्तत 1 के ठीक प़ीछे)। पररर्ार िें कोई एकल िाता-वपता नहीं है।
नोट: पंक्तत 2 की 'X' संख्या र्ाली स़ीट पर बैठा व्यक्तत पंक्तत 1 की 'X' संख्या र्ाली स़ीट पर बठेै व्यक्तत के ठीक
प़ीछे बैठा है।
L िसूरी प़ीढी से संबंधर्त नहीं है। A का कोई िाई नहीं है। P, J की िाुँ नहीं है। A और उसका ित़ीजा/िांजा अलग-
अलग पंक्ततयों िें बठेै हैं। केर्ल एक व्यक्तत अवर्र्ादहत है। L के िो बच्चे हैं और स़ीट संख्या A6 पर बठैते हैं। A
अपऩी िां के ठीक प़ीछे बठैा है। S अपने पतत के बायें से िसूरे स्र्ान पर बठैी है। R अपने पोते/नात़ी के िायें से
िसूरे स्र्ान पर बठैा है। P और उसकी िाि़ी/नन्ि एक िसूरे के बगल िें बैठी हैं। O और उसकी पत्ऩी एक ही पंक्तत
िें बैठे रे्। J के वपता और J अलग-अलग पंक्ततयों िें बैठे हैं।



There are seven members in a three generation family went to watch a circus but unfortunately they did not get
seats in the same row. Three person sat on seat numbered A5, A6, A7 of row 1 while four person sat on seats
numbered A4, A5, A6 and A7 of row 2 (just behind row 1). There is no single parent in the family.
Note: The person sitting in seat numbered ‘X’ of row 2 sit exactly behind the person sitting in seat numbered ‘X’ of
row 1.
L does not belong to the second generation. A does not have a brother. P is not the mother of J. A and his nephew
are sitting in different rows. Only one person is unmarried. L has two children and sit either in seat numbered A6.
A sits exactly behind his mother. S sits second to the left of her husband. R sits second to the right of his grandson.
P and her sister in law sit next to each other. O and his wife were sitting in same row. J’s father and J sit in
different rows.



There are seven members in a three
generation family went to watch a circus but
unfortunately they did not get seats in the
same row. Three person sat on seat numbered
A5, A6, A7 of row 1 while four person sat on
seats numbered A4, A5, A6 and A7 of row 2
(just behind row 1). There is no single parent
in the family.
Note: The person sitting in seat numbered ‘X’
of row 2 sit exactly behind the person sitting
in seat numbered ‘X’ of row 1.
L does not belong to the second generation. A
does not have a brother. P is not the mother
of J. A and his nephew are sitting in different
rows. Only one person is unmarried. L has two
children and sit either in seat numbered A6. A
sits exactly behind his mother. S sits second to
the left of her husband. R sits second to the
right of his grandson. P and her sister in law sit
next to each other. O and his wife were sitting
in same row. J’s father and J sit in different
rows.



Q. What is the relationship of the person who sits on seat no. A7 of row 1 and row 2 respectively ?
A. father, son
B. Mother in law, son in law
C. Father in law, son in law
D. Father, daughter
E. None of these

Q. Who sits between O and his wife ?
A. J’s mother
B. S’s on
C. S’s brother
D. P
E. Both S’s brother and P

Q. Who sits exactly behind J ?
A. O’s wife
B. J’s uncle
C. J’s father
D. O
E. O’s brother in law



There are four couples in the family. No single person is a parent.
P ~ Q means P is the grandson of Q
P ^ Q means P is the parent of Q
P * Q means P is the son of Q
P & Q means P is the spouse of Q
P $ Q means P is the son in law of Q
पररर्ार िें चार जोडे हैं। कोई अकेला व्यक्तत िाता-वपता नहीं है।
P ~ Q का अर्थ है P, Q का पोता/नात़ी है
P ^ Q का अर्थ है P, Q का िाता/वपता है
P * Q का अर्थ है P, Q का पुत्र है
P & Q का अर्थ है P, Q का ज़ीर्नसाऱ्ी है
P $ Q का अर्थ है P, Q का िािाि है

B ~ E & F ^ G & C; D & H $ C * I & A

Q. If P % Q means P is the husband of Q then which of the following is true ?
यदि P % Q का अर्थ है कक P, Q का पतत है तो तनम्नमलखखत िें से कौन सा सत्य है?
A. C % G
B. H % D
C. D % H
D. More than one is true
E. None of these



There are four couples in the family. No single person is a parent.
P ~ Q means P is the grandson of Q
P ^ Q means P is the parent of Q
P * Q means P is the son of Q
P & Q means P is the spouse of Q
P $ Q means P is the son in law of Q
पररर्ार िें चार जोडे हैं। कोई अकेला व्यक्तत िाता-वपता नहीं है।
P ~ Q का अर्थ है P, Q का पोता/नात़ी है
P ^ Q का अर्थ है P, Q का िाता/वपता है
P * Q का अर्थ है P, Q का पुत्र है
P & Q का अर्थ है P, Q का ज़ीर्नसाऱ्ी है
P $ Q का अर्थ है P, Q का िािाि है

B ~ E & F ^ G & C; D & H $ C * I & A

Q. If I is the father in law of G, then how is A related to D ?
यदि I, G का ससुर है, तो A का D से तया संबंर् है?
A. Maternal grandmother
B. Maternal grandfather
C. Paternal grandmother
D. Paternal grandfather
E. None of these



There are four couples in the family. No single person is a parent.
P ~ Q means P is the grandson of Q
P ^ Q means P is the parent of Q
P * Q means P is the son of Q
P & Q means P is the spouse of Q
P $ Q means P is the son in law of Q
पररर्ार िें चार जोडे हैं। कोई अकेला व्यक्तत िाता-वपता नहीं है।
P ~ Q का अर्थ है P, Q का पोता/नात़ी है
P ^ Q का अर्थ है P, Q का िाता/वपता है
P * Q का अर्थ है P, Q का पुत्र है
P & Q का अर्थ है P, Q का ज़ीर्नसाऱ्ी है
P $ Q का अर्थ है P, Q का िािाि है

B ~ E & F ^ G & C; D & H $ C * I & A

Q. How is B related to A ?
B, A से ककस प्रकार संबंधर्त है?
A. B ~ A
B. A $ B
C. B $ A
D. A ~ B
E. A * B


